
June 2007
Olav Egeland, ITK
Jan Tommy Gravdahl, ITK
Tristan Perez, Centre for Ships and Ocean Structures
(CeSOS)

Master of Science in Engineering Cybernetics
Submission date:
Supervisor:
Co-supervisor:

Norwegian University of Science and Technology
Department of Engineering Cybernetics

Modeling and Simulation of an Active
Hydraulic Heave Compensation System
for Offshore Cranes

Jørgen Sverdrup-Thygeson





Problem Description

Offshore cranes can be equipped with active hydraulic heave compensators in combination with
pneumatic accumulators for passive heave compensation. In this study a dynamic model is to be
developed for this type of heave compensator. This includes models for hydraulics, pneumatics,
cable dynamics and vessel response to waves.
 
1. Present existing systems for heave compensation of cranes.

2. Discuss dynamic models for active hydraulic heave compensators with passive pneumatic
damping using the bond graph formalism.
 
3. Develop a mathematical model for an active hydraulic heave compensator with passive
pneumatic damping.

4. Implement the dynamic model in Simulink and study the performance of the heave
compensator under relevant wave conditions.
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ζn =
√

2Sζζ(ω∗)Δω ?.�2/A


���� ω∗ �� ��	����� ����
�	� ��

ω∗ ∈
[
ωn − Δω

2
, ωn +

Δω
2

]
*
������� � ����
�� ?.�8A ��� ?.�2/A ��� ������������ ω∗ �
� ωn ���� ���	��

ζ(t) =
N∑

n=1

√
2Sζζ(ω∗)Δω cos(ω∗t+ εn) ?.�22A

&� ��� ��� ������� �	�����
� �� �
 �� ��	��	���� �� �
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�
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����� ���	� ���� �� ���
����� �
� �� ��

� �� � ����
�
?.�2.A�

ζ(x, y, t) =
N∑

n=1

√
2Sζζ(ω∗)Δω cos(ω∗t+ εn − kn(x cos χ− y sinχ)) ?.�2.A
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Mh
RB ξ̈ = τh

hyd ?4�2A
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�-� (������������ ���	�� +

��� ������ �
�� ��� ����� ����������
��� ξ1� ξ2� ��� ξ3� ����������	�� =���		��
��� ������ ��� �
�������� ����		�		 �
 ��� �
�� ����� ?�������A ���� �����
�� ��� ��������	 ���� 
� �������� ���� ����� ���� ��� ����������
� ���	��
[ξ4, ξ5, ξ6]T ��� ��� ��	�� ���	�� ���
��� ��� ������� ��� ��� �������� 6
�
��� ���	�����
� ������� �� ���� ������� 
�	� ��� ����� �
��
� �� �
���������

��� ����
������� �
��� ����
� τhyd �� �
��
��� 
� ��� �
		

��� �
��
�
�����

τhyd = τ 1w + τ 2w + τ r + τ v + τ hs, ?4�.A


���� τ 1w ��� τ 2w ��� !����
���� ?
���		��
��A ��� ���
���
���� ?�
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���	�
	��
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Sτ1wτ1wi(ω) = |Fi(jω)|2Sζζ(ω), i = 1, 2, . . . , 6 ?4�4A
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��� �������
� ������� �
���� ��� �
������ τ r� ��� �� ��������� ��

τh
r = −Ah(ω)ξ̈ − Bh(ω)ξ̇. ?4�-A
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 ����� �����

���� ��� �� ���	����� �� ?'���+� .//:�A �
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9���
������ �
���� ��� �
����� ��� ��
�
���
��	 �
 ��� ����������
�� ξ
��� ��� �� ��������� �� � 	����� �
�� �� ?'���+� .//:�A

τ h
hs = Ghξ ?4�:A

*
������� � ����
�� ?4�2A� ?4�.A� ?4�-A ��� ?4�:A ��� �
��������� �����
���	
�
��
�C [

Mh
RB + Ah(ω)

]
ξ̈ + Bh(ω)ξ̇ + Ghξ = τ h

1w ?4�<A

��� �
������	 ������� �� �
�������� ��
��� �
� ����� �
��
�� � ����
�
?4�<A ��� �	�
 �� �
�������� �� ��� ��� ����� �
���� �� ?'���+ ��� >�����
.//<A

[
−ω2(Mh

RB + Ah(ω)) + jωBh(ω) + Gh
]
ξ̃(jω) = τ̃ h

1w(jω) ?4�0A


���� ξ̃ ��� τ̃ h
1w ��� �
��	�� 
�����
��� ��� �
��� �
 �
��
� ��� �����

����
��� �
� ��� !����
���� 
��� ��������
� �
���� ��� ���� �� 
������

Gd(jω) =
[
−ω2(Mh

RB + Ah(ω)) + jωBh(ω) + Gh
]−1

?4�7A

3�	���	���� ��� �
��� 5"(� ��� ��� �
��� �
 �
��
� ��� ����� ����
���
���	�� 
��� �� ��		�� �
��
� 5"(� ?35"(�A� ���� �� ��������� ��

H(jω) = Gd(jω)F (jω) ?4�8A

��� �������� �
� ��� �����	 �
��
� �� ���� 
������� �� �� � ����
� ?4�4A

Sξξ,i(ω) = |Hi(jω)|2Sζζ(ω), i = 1, 2, . . . , 6 ?4�2/A
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� ?.�22A� � ���	�+���
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� ��� �����	 �
��
� ��
��� ���� �
���� ��� �� ��	��	���� ����� ��� �
��
� �������� ��
� � ����
�
?4�2/A�

ξi(t) =
N∑

n=1

√
2Sξξ,i(ω∗)Δω cos(ω∗t+ arg[Hi(jω)] + εn) ?4�22A
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�� ���� Mlo 100tonnes
*��	� ���� Mc ∝ L
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���� Vdisp 2m3
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���� ρ 1003kg/m3
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�� ����� ���� Alo 0kg
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�M����� Cd 0.6
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�� ��
G����� ���� Ap 1m2
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�� ��� ����� �������� 
� ��� ������� ��	������ �������
����	�� ��� ���� �
����
� �� ���� �
� ��� ������ ��	������

Mshz̈sh = Fext + Fint

= (−Mshg − 2Fc + pP1AP1 − pP2AP2

+pA1AA1 − pA2AA2) −Bvp ?<�<A

��� ������ �� ������� �� �
��� ��� ���	� �
��� ��� �
 ��� ��
����� 
� ���
���	� 	����� ?��� !���� <�2A� &� � ����
� ?<�<A ��� ������
� �� �
� �������� �

���
��� �
� ��� *
�	
�� ������
�� Fext ���� �� ���	���� �� FK ���
����� �

��� �
		

��� ��������
�

FK = 0 �� vp = 0 ��� |Fext| < Fcou

FK = sign(Fext)(|Fext| − Fcou) �� vp = 0 ��� |Fext| ≥ Fcou

FK = Fext − sign(vp)Fcou �� |vp| > 0


���� Fcou �� ��� *
�	
�� ������
� �
�M������ ���� ��������
� �� ���	��
������ �� ��� #���	��$ �
��	� ��� 	��� ���� �� � ����
� ?<�<A ���
���� �
�
��� �������	 ����
�� ������
� �� �
�� ��� ������� ��� ��� ������ ��	������ ���
��� ������
� �
�M����� �� ����� ��

B = Bphc +Bahc ?<�0A


���� �
�� Bphc ��� Bahc ��� �
��	�� ���
����� �
 � ����
� ?<�7A� ���

��� �������� ��	��� �
� ��� ��	$ �
��	��� β� 6
� ��� ������ ��	������ ���
��	$ �
��	�� �
� ������	�� ����� βahc = 7.0e8Pa �� ��
���� 
��	� ��� �������
��	����� ��� � ��	�� 
� βphc = 1.42e5 
���� ���������� ��� �
���������	��� 
�
���� ��� 	

�� ��� ��	��� ��� �
�� �
��������	� ��� ���� ���

Bhc = 4Apζh

√
βmt

Vt
?<�7A

��� ��	����� ������� ��� ���� ��� �
 ζh = 0.1� "��
����� �
 ���	��� ���
F������	 ?.//.A ���� ��������� �� ������		� �� ��� ����� 0.1 ≤ ζh ≤ 0.5�

,�! ������� %���� �����	�����	

��� ��������� �� !���� <�2 �� �
��
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��� �� ��� ������	��
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��	� )�� �
 !�� ��+��� ��� 
������
�� HG1		�
?288:A �������� ��� ��� 
� ����
��� ��� ������� 
� ��� ������ ��� �������
��

6������� �� �� ������� ���� ��� ������ �� ������
���� ���� ��� ����� �� �

���� �������� 
��� ��� �����
������ ��� 

�$ ����
���� 
� ��� ��� �� ���
�
��
� 
� ��� ����
� �� ��
��� �� �������	 ������ �� ��� ���� 6
� �� ����	 ���
��� �������	 ������ �� � ������
� 
� ����������� �� ��

� �� � ����
� ?<�8A
?���	��� ��� F������	� .//.A� 
���� cv(T ) �� ��� �����!� ���� �� �
������
�
	��� ��� � �� ��� ����������� �� ������� H�	����

du = cv(T )dT ?<�8A

&� cv(T ) �� �
������� ��� ��	���
����� �� ����� ��

ΔU = cvΔT ?<�2/A


���� ��

� ���� ��� ����������� ��������� 
��� ��� ��� �� ����� �
���������
&����� ��	���� �
 ���� ����������� ������ ��� �
� �
�������� �� ���� �������
��� ������
��� ��������
� �
������ 
��� ��� ����	 ��� 	�
 pV = mRT 	����
�
 ��� ������
��� ��	���
�� ?���	��� ��� F������	� .//.A

T2

T1
=

(
V1

V2

)κ−1

?<�22A

T2

T1
=

(
p2

p1

)κ−1
κ

?<�2.A

p2

p1
=

(
V1

V2

)κ

?<�24A


���� κ := cp

cv
�� ��!��� �� ��� ����
 ���
��� ��� �����!� ����� �� �
������

�������� ��� �
������ �
	���� ����������	�� %
�� ���� κ �� �	�
 ������� �

�� �
������� 6
� ����
��� ����� κ = 1.4� ��� ������
��� ��	���
�� ���	�� ���
�������� �� ��� ������� ��	����� �� ��

� �� � ����
� ?<�2-A�

p =

[
V0

V0 +
∫
V̇ dt

]κ

p0 ?<�2-A

9���� ��� ����������
�� �
	��� 
� ��� ����������� ���� V = V0 +
∫
V̇ dt� ���

���� ������������
��� �	
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� ��� ����� �� !���� <�4 �
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���� ?��� !���� <�4A�

��� ����	���
�� �� ���� ������ ��� ����� 
� ��� ����������	 ��������
�� ��
� ����
� ?<�2:A ��� ?<�2<A ?���	��� ��� F������	� .//.A ������� 
� � ���
��
� ?<�2-A� ���� ����� ��� 
��
������� �
 ����	
� ��� �
��	 ������� ���
��
�� ��� ��������
� 
� ������
��� �
�����
���

V10 +A1xp

κ
ṗ1 = −A1ẋpp1 ?<�2:A

V20 −A2xp

κ
ṗ2 = −A2ẋpp2 ?<�2<A

��� ����
������ 
� ��� ������� ����� �
�������
� �	
�� �� ��������	� ���
�
� ���� �

�� 6����� <�- ��������� ���� ��� �������
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� ������ ��
�	� �	�
 �� ���	����� ��� ������� �
���� Fmax� ��� ��������
��
�� pL� ���
�� ��� ��	����� ����
�� ��� ��� �
�M����� 
� �M������� ηmh� ���
������� ��� �������� ����
� ���� ���
����� �
 � ����
� ?<�20A ?HG1		�� 288:A�
��� �M������ �
�M����� ���	���� ��� 	
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Fmax

pLηmh
?<�20A
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qL = Cdbxv

√
1
ρ
(ps − sgn(xv)pL) ?<�27A
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�		 �� 	������ �� |pL| <
2
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�� ��	������ ���
���
��� ��	��� ��� �
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P = qLpL = Cdbxv

√
1
ρ
(ps − sgn(xv)pL)pL ?<�28A
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dP

dpL
= Cdbxv

√
1
ρ

[√
ps − sgn(xv)pL − pL

2
1√

ps − sgn(xv)pL

]
= 0 ?<�./A
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� ��� ��	����� ����
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Qmax = Apvpmax ?<�.2A
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��
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�� �����!�� ��
��
?HG1		�� 288:A� ��� �������� ��
� �
� ���� ���� ���� ���
��� Δp = ps−pL

2 =
1
6ps = 1

4pL ��� ��� �

 ���� ���
��� ��� ��	�� �� ����� ��

Q = CdAv

√
2Δp
ρ

= CdAv

√
pL

2ρ
?<�..A
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� Q = Qmax �� ���� ?HG1		��
288:A

Avmax =
Qmax

Cd

√
pL
2ρ

?<�.4A
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Avmax

xvmax
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V10 +A1xp

β
ṗ1 = −Cim(p1 − p2) − Cemp1 −A1ẋp + q1 ?<�.:A

V20 −A2xp

β
ṗ2 = −Cim(p2 − p1) − Cemp2 +A2ẋp − q2 ?<�.<A

mtẍp = −Bpẋp +A1p1 −A2p2 − FL ?<�.0A

9��� q1 ��� q2 ��� ��� �

� �� ��� 
�� 
� ��� �

 ��������� Cim ��� Cem

��������� ��� �������	 	��$��� ��� ��� �
�
� 	��$��� ����������	�� mt �� ���
���� 
� ��� ����
� ��� ��� ������� Bp �� ��� ����
�� ������
� �
�M������ ���
FL = 2Fc �� ��� 	
�� �
����

&� ��� ��	����� �� ������� ��� ��������� ��� ��� 	
�� �� ������� �
 ��
���������� � ����
�� ?<�.:A ��� ?<�.<A ��� �� �
������ �
 ���	� ?���	���
��� F������	� .//.A

Vt

4β
ṗL = −CtppL −Apẋp + qL ?<�.7A


����

Vt = V10 + V20

pL = p1 − p2

Ctp = Cim +
1
2
Cem

qL =
1
2
(q1 + q2)

" ��������� ��	����� ����� ���� ��� ����� ��� 	

�� ����
� ����� ��� ���
����� &� ��� ����	���
�� �� ���� ������ ��� ����� ��� �����		� ��������� �
 ���
���
������	 ��	�� Ap �� ��$�� �� ��� ������� 
� A1 ��� A2� ���� �� Ap = A1+A2

2 �
>������+���
� 
� ��� ��	�� �������������� �� � ����
� ?<�27A �����

qL = Kqxv −KcpL ?<�.8A


���� Kq = ∂qL
∂xv

��� Kc = − ∂qL
∂pL

��� ��� �
�M������ 
� 	������+���
�� ���
�
��	��� 	����� �
��	 ��� ���� �� ��������� ��

Vt

4β
ṗL = −CtppL −Apẋp + qL ?<�4/A

mtẍp = −Bpẋp +A1p1 −A2p2 − FL ?<�42A

qL = Kqxv −KcpL ?<�4.A

;� �������� �
 	��$��� ��� Bp �= 0� ��� >��	��� ������
�� 
� ��� �
��	
���
��� ?���	��� ��� F������	� .//.A
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xp(s) =

Kq

Ap
xv(s) − Kce

A2
p

(1 + s
wt

)FL(s)

s(1 + 2ζh s
ωh

+ s2

ω2
h
)

?<�44A


����

Kce = Kc + Ctp ?<�4-A

ω2
h =

4βA2
p

Vtmt
, ζh =

Bp

4Ap

√
Vt

βmt
, ωt =

4βKce

Vt
?<�4:A

��� ���
������	 ��	�� �
� ��� ������	 ��� ������ ωh� ���
��� 170rad/s� 
����
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Kp ≤ 2
Ap

Kq
ζhωh ?<�4<A

��� � <�; ���� ������ �� 
������� 
���

Kp =
Ap

Kq
ζhωh ?<�40A
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